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4800 4800 4800 4900 (1) 50Hz/60zHzIF 3% % 43 JE Y5 F 40 to +125 °C.
5000 5000 5000 5100 (2) 10 msec. ik %
5500 5500 5500 5600 (3)Tj=125°C.
6000 6000 6000 6100 (4)67 %A I VDRM T TF#% . Tj=125°C.
6500 6500 6500 6600 5) AEEAE
Vrrm = S [ 55 52 WEAE HL T (OULHLF L THE di/de HRIEEIANIMA #RHERS-
Voru =1F 1) T4 WA HL T 397, Section5-2-2-6.7E X M %A1
Vs = S 18] AN F AU AR s (2)
e . 10 mA
ERARFTSHIOR | Taalon | 50008 3
b 230 5 dv/dt (4) | 1000 V/psec
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AP Trav) 1000 A | SINE,180° Fil fiT.=55°C
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e 1 10 msec (50Hz), IF543E, 180°%F
N=R Nraoy s s
AN SRV R Irsm 14000 A W fh, T, = 125 °C
It{H It 980000 A’s | 10 msec
AR I 500 mA | Vp=24V; R;= 12 ohms
2SIV Iy 300 mA | Vp_24V;I=25A
[ EBliRYAN 2 Viu 32 V| Ity = 3000 A; Tj =25 °C
ML BT (5, 6) di/dt 200 Alus | ANEE
HLE T2 (6) di/dt 100 Alps | EE
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Vp =6 V;R_ =3 ohms;T;=-40 °C
300 mA | Vp=6 V;R =3 ohms;Tj=+25
I IA Al R HL I Ior 200 mA | °C
125 mA | Vp=6 V;R, =3 ohms;T;=
+125°C

Vp =6 V;R_ =3 ohms;T; =-40 °C
Vp =6 V;R. =3 ohms;T;=0-

> Vol s
IR Vor 030 3 X Vi, = Rated Vigys R = 1000
) ohms;
T, =+ 125 °C
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Z  H F5 | mAME | RORME | . | A %
ITM =50 A, VD =67% VDRM
TF3E i 1) ta 1.5 0.9 us | TIAREKMP: V=30 V; Rg = 10
ohms; t. = 0.1 ps; t, = 20 us
It > 2000 A; di/dt =25 A/us;
SRV . Vr2>-5V; BN K dV/dt=
T S h =-
RITIT (with Vi =-5 V) fa Hs 30V/us linear to 67% Vpry ;
T; = 125 °C; Duty cycle > 0.01%
R Ity > 2000 A; di/dt = 50 Aps;
A 32 I, A ™ 5 Us;
PR Vg >-50 V; T, = 125 °C
e HEA B AR R 1
Z  H F5 | mME | BORME | SURME | A % M
4 T, -40 +125 °C
fifi A0 Tug -40 +140 °C
gi5e il Ro (o) 0.018 °C/W | LA
TR Ro (c) 0.005 °C/W | LA
wHIE T P 30 kN
Hi W 796 g

o RCRWIGHE L



B (M) G AT PR 2 ]

SRR F

Page 3 of 3
KP1000A~ 4600~6500V Ifj % & | &5

5T

_b628

26+2

4.75

56.5

T ;‘EI:SO
/




